
Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

3 569 + 100 =

4 389 + 100 =

3 697 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

2 698 + 100 =

5 267 + 100 =

7 894 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

8 694 + 100 =

3 789 + 100 =

1 203 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

7 894 + 100 =

2 015 + 100 =

4 876 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

4 678 + 100 =

5 694 + 100 =

2 761 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

2 156 + 100 =

3 068 + 100 =

7 561 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

7 694 + 100 =

1 624 + 100 =

2 348 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

4 789 + 100 =

2 369 + 100 =

5 126 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

7 569 + 100 =

2 684 + 100 =

1 023 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

4 265 + 100 =

5 678 + 100 =

2 456 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

3 120 + 100 =

2 789 + 100 =

6 458 + 100 =



Ajouter 100 à un nombre. Il faut d’abord  que je repère le chiffre 
des centaines.

Réalise les calculs suivants     :   

1 457 + 100 =

2 695 + 100 =

7 125 + 100 =

8 026 + 100 =


